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1 Introduction
In RAN1#AH_1801 meeting, the working assumption [1] for the number of bits of resource allocation field for DCI format 0_0 and 1_0 was made as follows:

Working assumption:

· The number of bits in the resource allocation field for format 0-0 and 1-0 depends on search space:

· In CSS(s) in CORESET 0, use initial DL BWP for DCI size determination and RB numbering

· FFS If a UE monitors 0-0/1-0 in CSS in CORESET 0 in a slot, it does not monitor formats 0-0 or 1-0 (or 2-x family in case they have a size aligned with 0-0/1-0) in any other search space

· Otherwise, use active BWP for DCI size determination and RB numbering

In this contribution, we provide our views on determining the number of bits in resource allocation field for format 0-0 and 1-0 In CSS(s) in CORESET 0, use initial BWP rather than initial DL BWP for DCI size determination and PRB number. Otherwise, use active BWP for DCI size determination and RB numbering. 
2 Discussion
Based on the working assumption, in CSS(s) in CORESET 0, use initial DL BWP for DCI size determination and RB numbering. We discuss TDD and FDD scenario separately which are listed below:
TDD
In a TDD scenario, the bandwidth of initial DL BWP and initial UL BWP are the same. There is no problem about using initial DL BWP for DCI 0-0 (scheduling PUSCH) size determination and RB numbering. 
FDD
In a FDD scenario, the bandwidth of initial DL BWP could be different from the bandwidth of initial UL BWP and hence cause some issues when using initial DL BWP for DCI 0-0 (scheduling PUSCH) size determination and RB numbering. Following are some examples:
Bandwidth of initial DL BWP is larger than the bandwidth of initial UL bandwidth part
As illustrated in Fig 1, the number of bits in resource allocation field for DCI 0-1 and DCI 0-0 are X bits and Y bits, respectively. X is larger than Y due to initial DL BWP has larger bandwidth. However, according to the working assumption, the size of resource allocation field in DCI 0-0 is X bits. In this case, (X-Y) bits of MSB or LSB in the resource allocation field are ignored. 
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Figure 1: Illustration for resource allocation field of DCI 0-0 and DCI 1-0.
Bandwidth of initial DL BWP is smaller than the bandwidth of initial UL bandwidth part
As illustrated in Figure 2, the number of bits in resource allocation field for DCI 0-1 and DCI 0-0 are X bits and Y bits, respectively. X is smaller than Y due to initial UL BWP has larger bandwidth. Based on the working assumption, there are only X bits can be used to descript resource allocation of PUSCH. Some part of bandwidth of initial UL BWP can’t be scheduled due to the limited bits of resource allocation field in DCI 0-0. 
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Figure 2: Illustration for resource allocation field of DCI 0-0 and DCI 1-0.

Based on the above discussion, while considering DCI size determination and RB numbering in CSS(s) in CORESET 0, the size of resource allocation field in DCI 0-1 and DCI 0-0 should depend on initial DL BWP and initial UL BWP, separately. It is suggested that the wording “DL” should be removed.
Proposal: Remove the wording “DL” in the working assumption and then confirm the working assumption 
Working assumption:
· The number of bits in the resource allocation field for format 0-0 and 1-0 depends on search space:

· In CSS(s) in CORESET 0, use initial DL BWP for DCI size determination and RB numbering

· FFS If a UE monitors 0-0/1-0 in CSS in CORESET 0 in a slot, it does not monitor formats 0-0 or 1-0 (or 2-x family in case they have a size aligned with 0-0/1-0) in any other search space

· Otherwise, use active BWP for DCI size determination and RB numbering

3 Conclusion
In this contribution, we discuss on determining the the number of bits in resource allocation filed for DCI 0-0 and DCI 0-1. Based on the discussion, we have the following proposals:
Proposal: Remove the wording “DL” in the working assumption and then confirm the working assumption 
Working assumption:
· The number of bits in the resource allocation field for format 0-0 and 1-0 depends on search space:

· In CSS(s) in CORESET 0, use initial DL BWP for DCI size determination and RB numbering

· FFS If a UE monitors 0-0/1-0 in CSS in CORESET 0 in a slot, it does not monitor formats 0-0 or 1-0 (or 2-x family in case they have a size aligned with 0-0/1-0) in any other search space

· Otherwise, use active BWP for DCI size determination and RB numbering
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